AT I e

\“u‘\

“Iosiwe [op pepljigesuodsal uos A sojosLIeD jUSLLSIQeUOZE] LOS ‘SEJOU SNS A SOISIOUBULY SOPE)ST SO| anb SOWEeJejoap peplaa Jioap ap ejssjoid oleg

61°08v'8E9°L ¥S'Z0E'ZTOL'LE L8'E5G'E0SLE 00'vE0'ZPL'EE 00'VE0'ZPL'EE 0Jseg |ap [ejoL
000 000 000 000 000 Salousjue ssjeodsy soisafe ap sopnapy|
000 000 000 000 000 BOUEq | 9p saiopeLoye A saiopnap e sokode 0 Epnap ‘ciaoueul 0}so)
000 000 000 000 000 soidioiunw A seanesspa) sepepiua e sauopediued
000 000 000 000 000 opezijeiapa4 ojses)
000 000 000 000 000 opezijeiapad ojse9 ap seweiboid
000 000 000 000 000 sauoisuad ap einjonuisaal A UQISISAUI SP SOPUO) B Sauoioeuody
000 000 000 000 000 UQIDEZI|IJE]ISS 3P SOPUD) B Sauoioeuody
000 000 000 000 000 [eos pepunbas e| e sauopepody
000 000 000 000 000 ssuore|ignl A sauoisuad
000 000 000 000 000 sauoebigo
000 000 000 000 000 S8jeineN salnsesag
000 000 000 000 000 Jeuoiooipsunf ugionjosals ap ojusiwdwno ap sauoiebiiqo
000 000 000 000 000 sosiwoidwo)
000 000 000 000 000 seusfe sauooeiadp
000 000 000 000 000 uonsab e| ap ojusiwelolaw [e A edngnd uoouny e e okody
000 roo.o 000 000 000 [eucongsul eouaioys e Jesofew esed A ouelsandnsaid osaooid e ohody
000 000 000 000 000 okody ap A soAneRSIUILPY
000 000 000 000 000 UOQISIBAU| 8p SOJ0aK0Id
000 000 000 000 000 sooyjoadsy
000 000 000 000 000 (lesopag ouwssiqon) sjusLIEDIUN) SEPEULIY SEZJAN A SB| 8P SaUopUNn4
000 000 000 000 000 uoisinuadns A ugoeinbay
000 000 000 000 000 ojuawoj A ugpowold
000 000 000 000 000 seolgnd seonjod ap ugoen|eas £ ojusiwinbas ‘ugesue|d
000 000 000 000 000 £ $021|aNd Saualg ap ugIsInolg
6L°087'8€9'L YSZOETOL'LE 18'ESG'E0S LE 00'vE0'2ZPL'EE 00'¥E0'ZYL'EE ; S02I|gNd SOIIAISS 8p UQIE)Sald
61°08v°829°L ¥SZ0ETOL'LE L8'ESS'E06°LE 00'vE0‘ZPLEE 00'vE0'ZPL'EE sauolun4 se| ap ouadwasa(
000 000 000 000 000 solpisqng soR0
000 000 000 000 000 uowesadp ap se|bay e sojsing
000 000 000 000 000 soidioluniy Ak seanesapad sapepiug 0 Opeald A [BI00S J0joeS SoIpISqng
61°087°8€9°L PSZTOE'ZOL'LE 18'€66°C0G°LE 00'¥E0'ZPLEE 00'¥£0'ZPL'EE sewelboid




